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UNIT 14: ANSWER KEY

Working With Polynomials
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PRACTICE TEST #1
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Cumulative Review

REVIEW & PRACTICE
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Cumulative Review
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Cumulative Review
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Cumulative Review
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Cumulative Review
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Linear ‘Equations
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Linear ‘Equations
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| ADMIRE A MAN WITRTHE
COURAGE TO WEAR PAJAMAS
WITH FEeT iN THEM. /“3
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2. SUBSTITUTION
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%= -3
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(4, X =3y =3 2x-3y =5
3x-Hy =6 A= R =5
o =7
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4. PROBLEM SOLVING

Rade * Time = Disk
O®© Downstraam r+c Ly L
Upstream r-¢ G 48

He +4¢c =48  div. by H

G —6C=48 dw. by 6

A =i Y+ C = |2

v =0 = % (+C = 12

2Y = 206 e = A
=0

Beaat: 10 mph  Corvent: 2 mph

Rote * Time = Disk
@ Downstreasm r+rc 3 GO
Upstream r-C © 60

3r ¥3C =60 div. by 2

br — 6C =60 div. by 6

=20 = iet= 20

r=c =10 05)+C = 20

2y = 2O ¢ =8
r= 19

Poaot: 15 mph Covrent: B mph

Bade = Time = Dist:
3@ Upstream y—c &
Downstream r+c 2

5r-5c=20 div. by &

2¢c4+2C= 28  div. by 2

r-¢ =6 r+cC =11

r+c S  @+c =i

2y =20 c =4
v= 10

Beat: 0 mph  Current: 4 mph

Kote x Time = Dist

@ With wind ~ rrw 2 600
Against wWind —w £ 520
2y 2w 00 2¢ 2w =600
Ir—2W =520  2ps0)t2w= o0
Yy = 2.0 2w = HO

= 280 w =20

Plane « 280 mph  Wind : 20 mph

... TS FINE THAT You'Re.
NEURJTIC .., NORMALITY }S
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Rote * Time = Dst:

| @ With Wind A 'S0

Aopinst Wind w2\

het'Bw= 150 ok by 3

Vor— Yaw =175 Mot by 2

Yr+w = 450 C +u= Y50

f-w= 350 Go)+w =150

2y = 800 W=50
= 500

Plane : HoO mph  Wind: Bomph

® » Rate x Time = Dist
with tn +W 2 1800
Against wWind r-w 4 2000

2y +3 = 1800 div-by 3
Hy - Hw = 2000 div. oy +

Y+ wW = 600 Yy + W= 600

- W = BoO GEO)YFW =600

Ae = NooO w=80
F= 550

Plane: 550 mph Wind:S0mph

Rote x Tyme = Dist:

@ With wind r+w 34 300
Aguinst wird vr-w Y2 180

3 v ‘1“5/4(,0:3@
for —'hw= 150 mot by 2

molk by 74

H0O0 4w = HO0

WS

r— w = 300 Gso)trw =t

2Z¢ = 700 w =50
r= 350

Plane: 380 mph  Wind* B0 mph

Rote * Time = Dist,

@ With Wind  r+w 32 oo

ﬁgainsfwfnd —w = 6o

3+ 2hw= 600 molt. by %A
- = 2W = &0 div. by 2

r+w =HO0O v+ w = 40
r-—w = 300 (250)+w =400
2. = 700 w = Bo

r= 350

Plane: 35D mph  Wind:S0mph

REVIEW & PRACTICE




UNIT 16: ANSWER KEY
Linear Systems

@ |
(L 5 i
) if
[l | . II_
ISl IlI| : ! :
] I L)l ! | i
| ] f I
| | | [
' o i
! ' =
HE e NE R RN
@ Ill 1I N (B
| r
T
S
I |»: | ‘i
|
| | :i : |
i R
I i I—!— l; :I
| |
® . o
% ! : III:
i |
I SERER
1= IT|| |: |!|}.
i
| i :ll :E. : :
| e
| | | sl | L T
! | , [ | [l f ilf T
s
® y=5 e
2x-3y=-2| Ax = —b
ax=35)=-2a  (A)X=(h)Ee)

X=-3
-3,5)

© x=3

3x+}j='5'
3(2)H2y=-5
q¥2y=-5"1
23:-4*

B y)=B)EY)

y=-7
(5 J _7)

@ 2x+7=-|
IxAH4Y = 12

2% = =8

5)ex)=E)C8)

X= -4
Sx+Hy =12
3y =12
- 3% Hy = 2
by =24

H)y)=E) )

4= b
G¢LG)

(D) 3y-1l =16
3x=-24y=-3

il LT

?941=%
3:2‘7

G)3y)=G1)
Y=

32X —-23: -2

3x-2(a)=-3
£ g -Sﬂz
IX= 15
(5)Ex)=GX5)
w=5

(5,9)

@) 2x-9 =3

“HYx+39= |

=3 ==

Y= R-3X
Y= —234+3X%

~HUxt3y =)
—Uy+3E+29)=]
~Yx-9+ax=|
5x-q4 ="
BEX=|0

(&) Ex)=( o)
X=2
g=-5+5x
Y= —242(2)
9=3
(253)

..-3 8 —



(9 2x —7y=-5
x~59 =)

5
X-5;32\+53
A= | 4+ 55
3)('*73):‘S
20+5y)— 79 =5
2+)5y—-7y=-5
3"}}-85 :—5—3
o=

TR= =-8

7% =2 (5+23%)=-8
Tx—]0—bx=-8
x_,g'g _gto
X=2

UNIT 16: ANSWER KEY
Linear Systems

=5 +3X
}j: 5+2>(7-)

.—5: 6*“'}){
Y =-b-4Yx

Zx+2y = i
X2 (" )=3
Ax-IQ-EX=3
=5 —}i ]-'3.: 3'”1
Sx =15
(F)9=G)5)
xX=-3

® ax+39 =7
_5)(-— '—}ﬂ :-"8
bx+9y = 2|
-6x ~8y =-lb
y=b
2x+3y =7
2x+3(5)=7
2)Q+'5-E7-'5
2x = =8
B))=EH)
%=k
) 3x-2y4=-10
Tx=34="10
e
“IYx+by = 20
-Sx  =-l0
=2
2x -2y =-10
29210,
=2 =~I0
..-D_g:-’b
DE2=E)E)
=3

THe RiVaR , ANDTHROUGH THE WooDs
YF!NDust 0F 2

mult. by 2
mult. bﬂ 2

+,5)

molt. by 3
molt. by —2

(2, %)




® 2x -2y =-2
3x+3g = 33

X =4Y=-|
X+y= |l
Zx =10

X=5

X+y=1)
B)+y=1I
g=e

5x+54y= 15
3X—=34y =33

x+y= 3
gom il
2x =-8

x= "4

x+y=23
EP+y=3
Hi=

@ 4x-2y=-1
Bx =24 = -

EX—by=-24
-BXtby = 3

=% ==2|
X= 3

Hx=3y = =12

H4(3)-34 = -1

UNIT 16: ANSWER KEY
Linear Systems

div. by 2

div. by 2

(5,0)

C\r‘:\)- bﬂ B
div. by 3

MUH‘. bb 2
mult by =4

bX=3y = 6
x4y =32
Yy = 88

g=c

6X -33 =k
bx-3(3)=6
ox =294t

bx=30
(o)X= (ATES)
X=5"

24

(5,%)

THAT WILLSET YOU) FReE ,
ORTHE TRUTH THAT HURTS

[..DO YOU WANT THE TRUTH J
il

— 45—



UNIT 16: ANSWER KEY
Linear Systems

Rate * Time. = Dish
(D Downsyream r+c 4 306
Upstream Y-C G | g

Hy +Ye =36 div. by 4

by —-6¢C =18 aw. b}j 6
r+c =9
r-¢=3
2v = )2
=G
r4+c = 4
Ly+c =9
e =3

RBoat: bmph Current: Smph

Rade x Time = Dist:

@9 Downstream ¢+¢ B - BS
Upstream y-¢ 1 55

Br+ 5C =55  diwv. by 5
llr - NC = 55  dv. by I

o=
r—-c =5
2y = 1b

r= %8
r4c =[]
G+C =)

(@R

Boot: 8mph CorvenT: 3mph

Rate x Time = Dist

@ With Wind w23 280

Pga'msf wnd w3/ 225

o v + 2/?>UU = 280 mult. by 3
3/‘*(—3/4“) = 225 mutr. by Yz

r+w= 420
=-—uw = 300
2y = 720

r = 360

r +WwW= 420
(260)+W= 420
w= 60

Plave : 3tomph  Wind« 60 mph

Rade * Time = Dist;

@) With wind  r+w 3k 4o

%d\ngw;nd —w 2 Qe

v+ w= GO ks by
Ay -3 = 960 dw. by 3

r+w = 640
- w = 320
20 = 900

r = 480
r+ W =6Ho
(He)+ W = 640

w = 160

Plane: 480 mph Wind * 160 mph
—L) -



@ Y= x4+ 3 \ﬂ:QXPB
2XFUY = o
. 2% Yy = e
¥ 2532 (2%-5) =t
mE i x4 -0 =4
: I —rmloT O 1y HO
= - 7x=14
T » CYED=0AX04)
; ¢ X =
.I:!n IE. gzay_s
:2(2)"‘5
@ Ax+5 =-7 :3: -1
DX +Hy = -2
5 s (9\) _\)
ax+d =7
Ax =-la
(BL)eX)=(A)AH) @ 3x+2y4=06
X = - M2y =22
Tx  =2&
SxtHy = 2 K=y
3oy =R
__)8+I8+_ :-g+]8 gx +23 26
L‘ﬂ: o 3(‘*)*‘7—‘:] =6
(Y (y)= () (1) 1 H2y=67"
SE 2y=-b
o /2‘)(25):( ’/2) (_6)
(‘“ Q:) "f’) Y= =2
-2
Sl (4,-3)
Ix+2y =4
Y= -x+5

- UNIT 16: ANSWER KEY
Linear Systems

PRACTICE TEST #1

G Hx29y=-b div. by 2
2x=3y =I5 g, by -3
ax -y = -3
_.>(+i: 5
X = 2
AX =Y = -3
2~y =3
e e
y=7 (2,7}

Rote x Time = Dish
© Downstream r+c Vo 9
Upstream -¢ 2 9

ar+ bC=9 mult by 2
3hvr—%C=9 pul by H3
y+C=18
r-Cc=6
27 =24
r=1x
r+c = 13
0 +C= I8
C =6

Boot: 12moh  covent: & mph
_42-



UNIT 16: ANSWER KEY
Linear Systems

PRACTICE TEST #2

O y=Bx+5 Sx+y =2 ® Sx+3y=2  pult by 4
x+yY =7 Sx - HEZx-&)=2  2x—Hy=22 k. by 3
L e Bx+lax -3272
‘ rr"L 7x-2 2" 20x+12y= 12
7n= 25 x—12Y= 60
’ i O IRYRED) 2w v BB
8 K= 2 xX=3
| |
g il g:5x—8 Sxt3y =3
mh Yy=3=-8 5@)+3y =2
] i = -5 _ -5
4 Y=—A 15 +‘35-5
By=-Ix
@ 2x-5y=-5 (2,=2) (12)3y)=(B)H2)
35—-"' =5 ‘:j="'+
53-%*‘1-5*" @ 2x-24=-9 CB)-‘-D
2y=19 2x4-549 =19
(E)(3Ew=(/2)@) 2y =10 |
Y= 3 ’ Y= 5 _ Rode xTime = Dist:
A © Against Wind T /3 320
2X =0k == 2% -3y =-9 With Wind  v+w 4 465
ax=8(E)= -5 2%-3E)=-9
ax-5" =" o -15"2-qH® 2L -23W =220 molhbyFh
25e=0 2%x=0 3}4r+3}qw='"’b5 molt by 7
(V2)@x)=(~)(10) )2 =L (b)
X=9 X=3 r-w = 480
r+w = 620
(o) (2,5) 2r =100
=550 Plane
@ 3x-y =8 550 meh
5)(-!-45:2 r+w =620
(s50)+w =620  Wind:
“Y=-5x+& w =70 70 mph
Y= 3x-8

~Y43-



UNIT 17: ANSWER KEY

Factoring

D3 ® Gb
@ 3xy @ Bab*
@ 2a @ Ra*b
ON ® 4x?

@ 3 (x2y+3y>+2)
5(a>+20b -2 b*)
O 2ab(a*b-8ab*+4)
@ 3xuy(x2+3y+12)
@ not factorable

® xy* (@+x-xyz2)
B x (Mxy2+)2y +1)
@ Tabe (Mab+3ac-2)
@ H“x(2a+5b+ 8c)
a Ci+ ab +a2b3)
@ x>(c+5b +9¢)

€ a2 (Mx+19y +11 2)
@ 3 x(2x-3y +8xy>)

@D 1002b(2 ~3ab® +4b)
@ 5 <22 (1-2xy ‘3><132')
@ o (l+b +be +bcd)

1 2. DIFF. OF PERFECT SQUARES

© Yes ® Yes
@ No @ Yes
@ No @ No
@ Yes @ No
@ Xz_tjl
(x +9) (x-4)
© n*-lb
(ﬂ+4)(h~4)

._j_’q_.



UNIT 17: ANSWER KEY

Factoring

an =] o Qoxd— o)
(a+1) @) S B e
(2 o= oL (e Y27 +a) (2% -00)
@2+ (a2-1) T
CEICTHEED) e nS
@ n*-4m= 50 (N+2m)(N =2m)
n+2m) (n-2m) @ x>+ >
H(2ax>+Y>)
@ a>+b*
" not factorable o 1)«3"‘ Sy
@ )(L".—ﬂ“' 2_)((&0""-8])
'?._q)
Cx’-i—g")(xz-ﬁl) 2% (5?»51) (Y
(+9*) (x+ ) (x9) 2% (y2+2) (Y1+3) (y-3)
g x>y - 98 xy3
@ 25X1—\-}31 @ X “

(Bx+29)(Bx-24) 2%y (4 =H4Y™)
2%y (2x+79) (2% -79)
@ 3a* 20>
3a (a*-46%)
3o (o+2b)(G2b)

@ 5En>-10am*
5n (n*—2am>)

Gm %= 2 L) \2><’*33+8x3q—1(o><33
(o(ml—%m") Hxy? (3x+29-4)
6 (m+2n)(m=-2n) @ Go b* - 270>b 4 12aZb
lboxt-a°® dab* (\-2ab +2a)



UNIT 17: ANSWER KEY

Factoring

Ox*-A x93 +)12x*yY
3x (2% -3y 3+ 4xy)

a2b3 - adbic? +atbe”
o2b*c (b -ac +C)

69 ob" -
(o2b* +1) (a2b*~1)
(a2b*+1) (ab+1)(ab-))
@ 16x7y°- Yxy
4 xy H xqu-l)
Hxy (2x2y+1) (2x*y-1)

@ 20\155‘* 7la7‘b

202b (b*-26)
202b (h+6)(b-6)

3. FACTORING TRINOMIALS

@ y*+129 +27 (YR (Y+9)
@ x*+Ax +20 (x+3) G+
@ m*12m+a7  (m-9(m-3)
@ b2-1lb +28 (b= (b=7)
B ¢2+3c +6 not factorable

©® v2-)12x+20 (r-10)(r-2)

Gg® and ) Co+21) (1)

@ c*+10c +20 not Factvrable

@ o*+5a-50 (a+lo)(a-5)
b*+2b-48 (b+8) (b-k)
@ x*-10x+34 net Factorable

® cz-2cd-8d"  (c-ud)(c+2d)

® o*+20b-3b" (a+3b) (a-b)

(9 oc*-Hab-32b" (a-$b) (a+ub)

@ m=mn-6n"  (m-3n)(m+2n)

® x*-"4xy-54>  (x-59XxtTY)

@ 3x* +15x - 108
3(x2+5x-36)
3 (x+a) (x—H)

TLL TEL- OU, GG Y. AT MY AGE
i HAVE My GDOP DAYS AND MY
BAD paYs ... BUT iTs GETTING

HARPER AND HARPER
TO TELL THEM APART!

_.L,b_



~ UNIT 17: ANSWER KEY

5n2-15n - 90
5 (n2-3n-—-18)
5 (n=-6)(n+3)

@ Hoz+ Bab -Rb
H (a2 +2ab-3b%)
4 (a+3b) @-b)

@ Sx*-20xy +20y>
5 (x*-Yxy + 43")
5 (x-29y) (X-29)

@ 2%3-3x2y - 18xy?
3x (x2-xy-692)
3x (x=3y) (x+2y)

@ Hab*-8abc +Hac*
Yo (b*-2be +c2)
4o (b-¢) (b -¢)

@3 Bx® =% y*
D% Cx"—tj‘)
2x R+ X -Y)

@) Rab> - 2a3
2o HEr=aR)
30 (2bta) (2b-a)

@9 2%>Y ~ Axy
2%y (x"=1)
2xy O+ DOx*1)
2xy (x> +) (x+1) (x-)

(20) I aSb - Blab®
a bz (bat-81bY)

Factoring

o> (to* +ab)(Har-Ab>)
o (Ha=+Ab*) (20+3b) (20.-3b)

- MY iN'l%HGENCE BEING-
gﬂ.ﬂ.ﬁ{}. THE REST |
ATEFUL. THAT ITS GEITING

AT
ANY ATTERTION AT ALL !%

4. GROUPING TERMS

@ 4HYb*+5b-6 (D) = -24
Hbh*+ Sbeb -b —/2\4
Hb(b+2)-3(b+2) o loes
(ot2) (H>3)

@ Hy*-17y -5 H(-IB) = -60
Hy*+20y =3y IS -/e\o .
Hy(u+5)-3(y+5) iy =17

(y+35) (Hy-3)

® 2x*x-6 R)CoL)= -1
-4y +3x -6 -l
2 5=H% +3x Iz
ZX(X_2)+3>(X“-)—) CDHE)= -

(x=2) (2% +3)



@ 32-Ha —15
20*=Yatba -1
30 (0-2t5 @-3)
(o->) (Rat+B)

B 5F-13b-)0

no'f“
Foctovable

@ 4 ﬂz = oy "7
‘-}37'—29 =13y +77
24(2y-1) =72y ~1)
(24:) —|) (th “7)

D 6%%+Tx +2
bxFHxrix+2
2x@BxH)+1 Bx+2)
@Ax+2) x+)

en==1in +4
6n*-23n-3n +4
2n@zn-)-4(n 1)
Gn-1) BGn-4)

@ 20%2+5ab-2b*
262 +bab-0b—3b"
20.@+2b)-b(a+3b)
(o+2b) Ra-b)

ZXZ‘SXEj —55:'
2)(2—6)(3 +'Xj -332'
Z_X(X-—B:j)'f'tjcx—stg)
(x=29) (2x+y)

UNIT 17: ANSWER KEY

Factoring

(2)(HB)=-45
45

N,
CDHB)=4

(5)CG0)=-BO
(57
™\
> X X

)= 28

28
7

&) +64)=-16

©)(2) =
12
/N

HH) =7

©)(H) =2¢

24
0N

)r-8)=-11

@E)=-6
-6
7
(&)+=) =5

@) =-b
-6
/N

6 +0) =-S5

W 155-13 X Y +2j7-

(15)(2)= 20
N
“lo)+ (3) = -13
|5 X - =I0Xy = 3Xy +2y*
¢

Sx (3x-2y)- )/ R z‘j)
(3x-24) (B *-4)

@ 4a* ~Bab t3b%*

D) = 1%
/N

Coy+(2)=-8

Qo -bob-2al t3b*
20.(20-2b)—-b Ra-2b)
o-3b) (a-b)

®) da* + 2t ab + 12>

2 (302 + g alb +Hb>)
(2)(H) =
N\
()+(2) =3

2 (a2 + babtaakb i)
3 [3a(a+2b)+1b(a+2b):|

3 (a+2b)(3a+2b)

—ug -




UNIT 17: ANSWER KEY

Factoring
M 2 x* + B xy -309> (6)(9"’%
2 (x> FHxy-159™) -9) +(-2) = -1
W(E15) = =60
N\ Hob (Loz-da-20+3)
() +Ee) =4 Hab [2a(2a-3)-1 Ga-2)]
2(4x’~+}o><3 ~bxy-I5 51) Holb (20-3) (30 -))
2 [2x(2%+59) -3y (2x+53)]
2 x+59) x-3Y) @ 12Nt -2n3-2n™
2n* (bn?=-n -1)
@ 13 x*-2)%xy + b9* ©)E)= —/(<
2 (x> *7%34-132‘) £3)+(2) o
() (2) = 12
S 2% (n*-3n +2n 1)
e +(E2)=-7 212 an @n-D+ 1 @n-1) ]
3 (X -Uxy-2xy+24u>) 2n>CGn-)D BGn+)
3[2x(3x-29)-yY (3x-24) |
2 (3x-29) (2x-Y) ® iy +Bxy*~by*
g (x> +5x=6)
() (~b) = 24
/\ —
(R) =B

le- (UsE+8X=3X - 6)
nj?- E-}x (x+2)-3 (vc-t-z_):l

(o 240>b- do*hb+)2ab ld" (x+2) (Bx=3)
Hob (Ga>l)a +3) |

_L',q._



UNIT 17: ANSWER KEY

Factoring

© (o®?+1502b -ab*
20 o? +5ab -3 >

@) = -6
i
LY+(-)=5

20 (20*+Gob-ab-3b*)
30 Ra@+2b)-b@+3b) ]

2 (G4 3b)(20—b)

w -]
(x4 1) (x>-1)
(x4 O +1) (x=1)

@ Nt e N
(x—6)(x+3)

@ == 10wn =1k
(n=-2)(n-2)

@ 1ba* -9b*>
(Ha+3b)(Ha~3b)

@) x> - +12
(x=1D (X -3)
o=t
GZ+b%) (G>-h>)
(o2 +b2) (otrb Yo-b)

Rewmember 1o fuctor
expressions ompletely

.M AFRAIDTUERE' LL BE A -,
DELAY,SiR...YOUR POWE
LOUNCH EXPL,DDED!

b

REVIEW & PRACTICE

@ L}Xﬂi -Co><7'j + 2 )
2%x9 (2y-3x +1)

® 26a*b>— 12ab
120b (Bab=1)

B) 2x°y -3x+ 6xY
2x (x4 -1+2v)

@ 9x* -1by*
Gx+ Hud (3x-4y)

B a*b* -]

(b +)) (b —1)

G+ ng-) (x>-Ay*)

CxF4+9y>) (x+39) (x-3y)
@ a*+1 70 +772

+49) (a+9)

....50__



UNIT 17: ANSWER KEY

X2-1Bxy +3b y*
Cx—129) (X‘B‘ﬁ)

@ n2-5nm - 4m*
(n=Tm)(n+2am)

302 -1oab —Sh*
(3X8) = -2+
7N
G +(2)=-o

2o —12ap+ab -
3a (o-Hb) + 2 b0 ~Hb)

@-4b) (2a+ 2b)
@) Fx*-Yxy -3y*
(H)-3) = -12
7z
(-o)+(z) =4

Hx2 —bxy+2Axy =3y *
2x(2%x=39) +Y (2x-3Y)
(2%-39) @x+9)

(@) 6o*-19a+10
(6)(10) = 6O
/\
C5)+EH=-19
Loz-15a -Ha +10

3a(2a-8) 2 (za-5)
(2a-5)(2a-2)

Factoring

(B za° -2k
2 (a*-4>)
5 (a+2b) (a-2b)

B 3 *+an —12
2 (nr+H3In -1)
2+ (n=1)

@ L’lej —bxg" +l0x53
2)(5 (2X-39+552)

® %*+6x+8
(x-l—‘-}) (x+2)

® lox -1 .
(x1m) C%=1)
(s ) (2% FD(2%~1)

@72)(2 g e
@)(R) = b
/N
(e)+0) =7

25 Fox+ X+ 3
2x (x+3)+1 (x+3)
2D (2 +H)

1203 - 24a%b
120> (o -2b)

G 20*+Sab+2b™
(3)@) =6
A\

() +()=5  (onhnoed)

==



UNIT 17: ANSWER KEY

2a% +3ab+aab +2b*
34 (a+b)+2b(a+b)
(a +b) (Ra+2b)

@) a“-2ab -3b*
(a-3b) (a+b)

@ % -x*y*
x> (x*-y>)
X% (%) (=9)

@ Gabc —2ab+ 9a%b
3ab (2c -1 +3a)

@) 2x*+Tx +5

(2)(5) =10
7N

(s)+2)=7
22X 4B x +2x4+-5

X (2x4+5) + ) (2x+5)
(2x+5 )X+

€9 o *- 25
(bo+B)(6a-S5)

@) 20>+ 100 +12-
2 (6*+ 50 +b)
2 (a+3) (a+2)

@) ba>+a +2
Conhnved

Factoring

(LY(2) = ¥
VAN
(A +(2)= |

(o T+A%a + 20 +2
30 (20+2)+| Ro+2)
Qo+3) (Ro+1)

D) x*yr 2*-xy +xyz
XY (xyz2*-y*+ x 2)

YOU CARE TO SUFFER FIRST ?

M DR. MINSKY,AND {'LL BE
GIVING YOU YOUR PHYSICAL !
NOW, WHICH INDIGNITY WoulLD

@9 B0*+120b+-4Hb*
4 (202 +3ab +5%)
2)0)= 2

A
Eobal)ie s
4 (202 +20b +ab+b)
1 [2aGs) +b(ars) |
4 (erb) (20 +b)
6o B\ n-I

Bnz+1)Gn>-1)
@n*+1) (31 +DRB n-1)



UNIT 17: ANSWER KEY

@ ?)ﬂ?‘*qn + b
2(n*-»n +2)

a(n=-2)(n-1)

6) x> +x%x-2
(x+2)(x~1)

Gd Ga*+5a ~6
(0)Eo) =26
7
EhFEN=E
ba*-4a +9a -6
20(a-2)+32 (20-2)
(zo-2)(20+3)

G 1e x> —24 x>
Ex* (3 -4x)

& 6>-qa
alo* =9
alara)a-3)

6) x*- 3%y -10xy
(x=59) (X +2y9)

@D 20 + 763 +ea*
a* (20*+To +6)

continved

Factoring

2)(6) = 1>
N\
D+ (2)=7
o (20>+H1a +3a +6)
a*[ 2o y2)+3(0+2) ]

az (at+2) a+3)

6 6® —ab”?
o®b® (a-b)

@) 6+ o> —Hab™
(go +1%) (Ba-7b)

NOW STAY TUNED FOR
CHOCK SPRINGER iN

WASHINGTON WiTH

S 10 L o b, o A 1 e P by www s com Be



UNIT 17: ANSWER KEY

Factoring

PRACTICE TEST #1

D 6x°y*> - Ixy=2
3 xy* (2%x-3y2)

@D lbar-hb*>
(Ha+b) (Ha~b)

@ 2Zn*-1H4n +24
2 (n2=-Tn +12)

2 (n-2) (n=-4)

@ bx1-6
(Gl
6 OF+) (x*=1)
b OF+1) O G 1)

6) 2o*-5a 13
12) = -2
/\
C)+H(3)=-5

Z02-Bo+30- 2
20.(o-D+3-4)
(o~ (2a+2)

@ 12 x> +19 %y - (951
2 (bx*+7xy ‘33")

(6)FR) =218  contmod

-\&
A
(DHD=7

2 (LX+9xy =Y 292
2 [Bx (2x29)-y(2x139)]
2 (25+3Y)(EX—Y)

PRACTICE TEST #2

@ Ya®b-% e +Rab

Uab(X=20c+3)

- @ a*=5a -1+

o-T)(a+2)

@ A8 x -
2 (da>=1)
2 (74D 7x1)

@ glat- b
@ oz +41) Go=45)

(AaFHE) (Barb)(Ba2b)

® Hh=1gxy Higy™
2 @=9 XY "I-Q:j?')

)@) =18

7N
F)HE)=-9

Z (2)(1-&(3 —3;‘3 +9 32)
2[2x(x39) 3039
2 (x-39) (2 x-34)

@ Bn>~lbn +6
24T 8Nn+>)

WHE3)= 12
N
Co+E)==8
2([ton -2n +3)
ztzn(zn—%) - (Zﬂﬁj]

2 (zn—sﬁCzﬂ—‘)



